
Think together

1  There are 12 pairs of shoes. 

How many shoes are there in total? 

There are  shoes in total.

20 21 22 23 24 250 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 191817

0     1     2     3     4     5     6     7     8     9   10   11   12   13   14   15  16   17  18  19   20   21   22   23   24  25
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➜ Practice book 1B p73

3  Complete each number track.

2  There are 16 shoes. How many pairs are there?

There are  pairs of shoes.

I can see all these numbers 
end in 0, 2, 4, 6 or 8. 
Is this always true?

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

a)
16 18 22 26 28 32

b)
30 32 38 42

c)
40 34 32 28
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